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GENERAL MATHEMATICS

Subject Code : C2

Full Marks : 90
Pass Marks : 27

Time : 3 houry

Candidates shall note that each question will be multilingual, viz., in
Englisi/Assamese/Bengali/Bodo/Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the medium / version,

the English version will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION - A /55 =t/ F — 14l / T—argrill / s—ml

I. Choose the correct answer -
% SEI0! A1 Shied
F T @z s -
e e wrr ' g

tg{a? :
1Y" Ifxecyand when x =6 then y = 30. Now if v = 2 then the value of y is

M vy AP =6T@y=30 | GRoq x =2 Ty IATEI—

A x oy @R =6, y=30 | 9 v =2 2@ y - AATZTI—

T v oc y IR v = 6 STl y = 30 1 2PN x = 2 wraee y P T AW —
ARG v oe y ARy = 67, My =30 | 37/ = 2 B A y F A7 A —

(a) 12 by 15

@10 (@ 20

G Which of the following is a square of an odd natural number ?
OF (PICHT TR BT SRR e 39 7

AT I R4 ol wrgay sy 3ef 2
MR AT ST A S ARty =t 7
e dd = ot ven i den st 2 7
(a) 256 by 169
(c) 546 ) (d) 754
@4Thevalueof¥§+ijﬁ+{fé—4is— 1
A8+ 027 +6A T T
8+ 327 + 64 - a5 W 7 =
8+ 027 + 364 B wE S —
{8 + 27 + f6a wramam — -
(a) 6 (b) 7
{2y 8 ) 9
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Lji»‘f)”E"uclid‘s division lemma states that if a and b are any two posilive integers
then there exist unique integers q and r such that

B0 [erem Sfi i afit a s b Rl 751 e 990 e
T (ST Y 6! SRS e q I r o] e 70O —

fod R ettt wpites 3 2 g b @ I 76 @I W9
RN 2 SR ) b SRR G q 992 1 AT A;E @A —

wheastt TR 3w Ry et SR a am b s T SR
T SIS A ST e A Tgen ety SR q S FH S -
{%@ﬁﬁmﬁﬁm%waﬁaﬁnbﬁmmﬁﬁﬁm

(a) a=bg+r,0<r<h P a=bq+r,0<r<b = _
c) a=bq+r,0<r<b d a=bq+r,0<r<b
\(‘/Q q (d) q

(v) The number of decimal places after which the decimal expansion of the

43
rational number 24w 53 Will terminate. 1

43
wﬁmmﬂm%—qammwwﬁﬁwﬁﬂwﬁ@mwwm
2%%5
-
; .
ﬂﬁmﬂaw4—3- «F T SRR TS e AR zen g
24%5
B Ecll

ummmﬁm%gﬁaﬁﬁwmmaﬁﬁmﬁwamﬁﬁ

=52 E
SR S — ,
=
3 . ]
Wmﬁ%mﬂmaﬁm@ﬁmmwﬂﬁm%_
L) 3 (b) 4
(c) I (d) 5
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WY T 1 isa zero of the polynomial p(x) = bx? + 4 (b+ 1) + | then the value of
b is I

T p(x) = b + (b + 1) + | LB BT | 2 Cor® b I T A~

AW p(x) = b2 + (b + 1)+ | IR G5 % | 2 SR b0 T T —

e pi) = ba? + 4(b + 1) + | gy H=d wfrg’zn | S st b 4

THET ST —

A TG p(x) = ba? + 4(b + 1)+ | HTH 13, T bHT AR —
@ -1/ () 1

(€ 0 W -4

(vii) If the sum and product of the zeroes of a polynomial are p and q then the
polynomial is 1

- 0T Bl TR T (RO (IR T @I p T q T (S8 I T T —
7 45f TZATTR [RIBIET AT 33 R p GR T OIRE A2 = —
ﬁwmmﬁmmmmp A q

BRI CSI EHCUICIE S IR

afe et agTa & Yl %1 A0 3R TR SN p 3 q S A S gIE R -
BT+ (prqrtpg (b - (p+qx—pq

() ~—(p+qx+pq () x> -pr+q

(viii) The condition that the line av + by + ¢ = 0 passes through the origin is
ax + by + c=07ﬁﬁﬁ‘m“'ﬁﬁ“ﬁm (I 55 7' —
av+by+c= meﬂmﬁ@m@m“ﬁéﬁm_
av + by + ¢ = 0 Tt AT TR 9= s ST reTea ST —
Wlar+by+c=0F A AT H v 2 -

_('Z(a=0 %bzg
© 2o/ (d) ~c#0
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(ix) The coordinates of any point on y-axis is

k , EEE
y T 6o 4! Rttt R 2 7' ke
y SR ST AP @ it g giices 2 )
y-1If< BREI ST e strRaren R e R swie —
y-a7e7 T febrer Test ferg 1 frdrien € —
_{a—(0,x)_/ (b) (x.0)
© (xx) (v y)
(x} One r.oot.of quadratic equation is 2 and the sum of the roots is 5 then the
equation 18 1

<51 1o SN G5 3 2 O T 951 19T 5 TOTF AP 27
@b e 7R @3 17 2 @32 77 9t ot 5 stz a9
AE AT STt B AgrRm 2 o Uer BT e 5 ot

HHHATEAT ST —
=t Teet Temmer wefiencor w1 0 uet 2 R 2k geil %18 § 2, ot wifer € -
& -5+ 6=9/ (B +5-6=0
(€) x-5x-6=0 S (d) #2-5x+2=0
2. Choose the correct answer of the following :
o W SBACe! A Sferedl
e wg Tedit @@ S : -~ EEE
TERER e R §a’ O
= d wd I g
(i 1f %, a, 2 are the three consecutive terms of an AP then the value of “a” is 1

a2 a, 2 B R @i oDl i T 20 COT8 a T X9 -

ﬂh‘a%, a, 2 36 AN elsifeg Remfo FiH o 20 S a—9F I 2(F —
R o, 278 arror o e R o TR ot a 2
a3 2,2 Bt AP 3 et v o A R

ot/ ® 3
9
© 32 Wy s
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(

! igBC‘) 'S an isosceles triangle in which ZC = 90°, If AC = 6 cm. then
) 1

igBC Bt AL g 18 20 = 90° | i AC = 6 T T ol
=

AABC @36 g fargsr craie £C = 90° 13 AC = 6 1.5, 29 o1
AB=?

AABC 31 T3 T 7 S sitd £C = 90°, 9 AC = 6 3
ST 3Tl AB = 2

AABC % wafgerg By & | Rl £C=90° 8 1 3Rk AC = ¢ Bt &1, &
AB="°

(J/‘ Enﬁ em/Te: /o At \/
1)9)9\6 cm/TR: /G Al

() /6 e[ i afyadh

) 42 en/ee: e . Ay

(iii) The distance of (3, —2) from the x-axis is 1
(3, -2) R0t » SPFeR AER €%
(3, -2) Tqfba x =% AT e EA
(3. —2) Targtat x—TIfe Si@BT SesaT FriA —
3,-2) g -amagia-
(a) 3 (b 13 /
@ | @ 2
(iv) The ratio in which y-axis divides the line segment joining the peoints (=2, 0)
and (4, 0) is 1
(=2, 0) S (4. 0) TN @IS y-TrRe Sl 9] SeA1otsi 79 —
(=2, 0) €R% (4, 0) TRCA EARNGTS y-SCwd Stof Ft wpetof 23
(L2, 0) 3 (4, 0) S ETE GG y TR gElen AEM WIAEHR

TSN ST —
faigatt (-2, 0) 3it (4, O)Eﬁﬁﬁ@mﬁi@ﬁgﬂﬁymﬂﬁmmﬁw
Hid! 8, 988 —
2 3 ._(LJ-)‘ l:"\/
La%/l 4 W@ 2:1
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(v) A straight line which intersects a circle in two points is called -

GTTe e [@RIR 6! T8 751 s (v e ({Arei 29 —
il SR 4D o 71 e caw et o =
T T (@ S 5t o ) Q) gt o s v 2 w8 v §

@/chord (b) radius EIE
o T i
Ll BISIE
Tafet g wEd
EIE]l STEnd
(¢) tangent @_ Secant /
ishy TF
o [
BUECEIE] CEEDI
= B
(vi) IfsinA= % thentan A=7 1
ﬂfﬁsinA=%mtanA=? =3 E]

%

3
ﬂ\ﬁsinA=§ SR tan A =7

. 3
§|a51nA=§ A= tan A =2

qﬁ{sinA=% %,?ﬁtanA=?

3 ' 4
3 / 2
N G W3
B23-GM [EN/AS/BN/BD/HN) 7

3047



(vii) If TP and TQ are the two tangents to a circle with centre O so that

£POQ = 110° then ZPTQ is equal to

M O 9% & @B J6I TP WF TQ TOI =F, TTe £LPOQ = 110° (S(F
ZPTQ M T —

3t O EYE <3 J0eT TP 38 TQ 7S =13, TS LPOQ = 110° S
£PTQ — 95 57 24 —

e 0 iR TH AR et TP w@ TQ O Tifwe wiEl, ST
ZPOQ = 110°, 3Tee0 £PTQ G919 A —

e TP, TQ %% O =et el 78 w 2 st W 56 wabrt & 5 £ZPOQ = 110°
B, W ZPTQ s=L & —

e o0/
(c) 80° D 90°

(viii) If the surface area of a cube is 486 cm? then its volume is —
GBI T SBT3l 486 (=::2 3T (0B TN AiTen 7T —
4% T =t 486 T.f.2 2 wreget @ ke 79 —
A TRl fing ceensiar S 486 A2 S stse I IemmdEr s —
afe Reelt v w7 IS et 486 TH2 7, T SHHT AT B —
(3 81 cm?eE: RO AR A
(b) 243 cm’ /AR /O /AT A
() 529 em3R:fi:3 /. 3t A
(d) j\729 om3 /0 3., A A

B23-GM (EN/AS/BN/BD/HN) 8 3047



(ix) The median and mode of a data are 33 and 45 respectively. Then its mean is 1
B! B T HIF T IE 33 WFAS T E YT~
ATl STRT NYIl G18 q297< IUGPIY 33 932 45 T I T3 —
T @i S 3 AT G 33 STRY 45 SrEte ToRfET SR —
Uk FTTRS 1 HTEHS 7R ageih SHU: 33 3K 45 8, o sHeB WA 3 -

(a) 30 (b) 33 mg@]
© 2(/ @ 35 i

(x) The probability of getting a number 8 in a single throw of a die 1
<51 Tyels «ar TfRTE § TR TSieI 2 -

Gl e «am T 8 e Tkl T -
T STEaE A TREETATE 8 WA SHUTEHRIT S —

T U T T e 3 8 U oAl Wi @ -
@ 3 3

(¢) 1 wry

3. Answer the following as directed :
ferte SRpicd O fert -
oI Sed e :
firin ¥ sgER IW G :

Mhat is the area of a thombus whose lengths of diagonals are 8 cm and

4cm? 1
<51 T ¢ e onf 8 e e 4 TR TEAtEETI? § tm"’m o
S T T I A 8 LR G R AT I IR TI Y [
Sl TaTER @ gEr At TeYTE B 8 df ot 4 A Swieen
ZeRATS I HT ST 2
eh TS P Gt R R e Gl ot Bt e s 8 6 ol
432 ?

B23-GM (EN/AS/BN/BD/HN) 9 -



/u’{ Find the smallest number by which {27 should be multiplied so as to get a
rational number., 1

ﬁﬁ@mwwm@\/—wmaﬁmaﬁwﬁmw}mmmm?
RAACG! Sl |

WW@W@H\WWQ_W%CIW@% iR ARt “Arewt A
o2 7R @9 T |

TR ERE SR 27 o aeeeieen SRR aaeeY SR A
B SR g |

mﬁfﬁﬁwmﬁmﬁﬂﬁ@ T 7o KW W T IRET HEm u g |

(ijf) What is product of the zeroes of 4x2 + 8x ? 1
4x? + 8x T (FRH “7orge R 'g 9
4x2 + By — G NTBRR @ 9 7™
4x? + 8x 7 enfer SR wrstemEm W e 7
4x2 + Bx o YA T IR T 7

(i¥) If nis the degree of the polynomial p(x) then what is the number of zeroes
of p(x) ? 1

% GBI T p(x) T TG n T (T TLATGIR 54 301 e '3 2
At <fB AT p(x) — 4T AN 1 T SR T2 A T T 7
gfe @FE fagm mai pi) T R o S s e Nl R
AR SR S 7
gfe fordll 9595 p(x) FTEM n B, A plx) D I T 77 Rl 7
ip)/ Write true or false :
Ox + 0.y + k=0, (k= 0) is a linear equation. 1
ey 3t wETey forel -
Ox + 0.y + k = 0 (k # 0), 9B TR 7TRw4
o} 9 e KAl
Ox + 0.y + k = 0 (k= 0) 90 WkF TMpael
Ox + 0.y + k = 0 (k # 0) 3T A TGN GARYTS |
e A HEe T -
Ox + 0.y +k = 0 (k = 0) T e wftor 2 |

B23-GM (ENJ’AS/BN/BD/HN) 10 3047



WFind the number of solutions of the equations
x-4y+6=0and3x-12y+18=0 (ZRCAT TSR AT 1

x—4y+6=07%F 3x - 12y + 18 = 0 AN AR AR foefa w41 |

x—dy+6=093 3x — 12y + 18 = 0 ATNACTA FITAR A4y 1ol et |
x—dy+6=03 3x— 12y + 18 = 0 GAMTSH wapeTsiy smRm g |
v—dy + 6= 03 3x - 12y + 18 = O Gt 3 gl ) HEa T HA |

(viy What is the condition if the roots of the equation x2 + px + q = 0 are real

and unequal ?

x2 + px + q = 0 FRTIIOR T 701 I T ST (A 50! 1 2

x2 + px + ¢ = 0 TR T3 70 IV 4T PR =S 166 F 7

x2+ px + q = 0 FAFRTER Ty FAFAT A1 ST THA 7S AR T A 7

gl 12 + px + q = 0% AT 3R SRl 1o 8 Al I R R 2 Q‘%
: mLE

What is the value of ¢ if the roots of the equation ay? + bx +c=0 are equal ? 1
ax? + bx + ¢ = 0 ARG To1 751 I T & ¢ AT R 2’7 7

ax? + bx + ¢ = 0 FANRABF o1 b I A ¢ 9T T TSR ?
a2 + bx + ¢ = 0 THETERY gy A FA StrEee ¢ B AT s 7
e T ax? + by + ¢ = 0 % He TUSTE, T ¢ T I 1 EF 7

(ix) MWhat term of the A.P 2,4, 6,8 ...... will be 507 1
n

2,4,6,8 ...... AofoUbR Femron spre 50 AP 7 B
2,4,6,8 ...... sifofhg T T2 #{(7 50 AT ?
2,4,6,8...... TR < A farerea 50 UFIH ?

=

AP2,4,6,8...... 1 I | S 50 20T 7

B23-GM (EN/AS/BN/BD/HN) 11 3047



4,

that their
9/ How many terms of the A.P. 24. 21, 18, ...... must be taken sO ;

sum is 78 9

. 59 9
24 21,18, ...... aﬁwm@cﬁﬁ%ﬂmﬁvﬁaﬁﬁmmwmai.
24,2118, ...... 43 FurEy 2t Telh on M@ it @ 78 XA
24,21, 18, ...... & AR Sy HARY fge e e SR

78 AP 7
AP24,21.18. ...... % Rraa ueh &1 AN 78 BT 7

Answer in short ;
TRCFC TEq i :
'{iﬁ"&ﬁﬂ’ﬂq‘@f

(i)

ii

In a triangle AABC, DE||BC. If AD=1.5cm, DB =3 ¢m, AE =1 cm then
EC=? _
95! f4g% AABC @ DE || BC | 3% AD = 1.5 &f¥;, DB =3 @&fil:, AE= 1

& WG EC ="
@l fage AABC TS DE||BC | 9% AD=1.5G1.8., DB=3 Gi.fil,, AE= |

CL. W SREH EC =7

A& ST AABC 37 DE || BC 1 9f% AD = 1.5 &fd, DB = 3 &fy,
AE = | 81 S8 &1 EC = 7

T s ABC % DE || BC % 1 9f¢ AD =158, DB =3 ¥ 3t AE = | 3@

B, dTEC="2
AB BC CA
In AABC and APQR,Q“R=P—R'=§6then what is the triangle, similar to

APQR ? 1
AB BC C
% AABC ¥ APQR T G = b = 56 T, COT8. APQR 3 255 o7 2
fergerh 7
AB BC ¢

W AABC @€ APQR - &g Q_Rz—ﬁ:%?{g’ Wizl APQR - @3 e
fogef & 7 '
AT 51 7

AB BC CA

AABC 3R APQR #, QR PR =E%,aiAPQR%wwﬁaﬁ% ?

B23-GM (EN/AS/BN/BD/HN) 12 3047



éi/i;}/What are the co-ordinates of the mid-point of the line joining the points
(-2, 5)and (8. -3)7 1

(-2, 5) TF (8, -3) “REIN @9 TR Z0T (5 2 I%%
(=2. 5) @R (8, -3) RN @R VYR TS F 2

(=2. 5) 3T (8. —3) Tar=} grotmeama grEi o fergit emafy ferdmn a1 2
foigatl (2. 5) 3fi (8, -3) ) e I Vi <At e fig v P w0 R 7

y')/[f the points A(6, 1). B(8, 2). C(9. 4) and D(P, 3) are the vertices of a
parallelogram, taken in order then what is the value of P ? 1

T A6, 1), B(S, 2), C(9. 4) SIF D(P, 3) Rzt «2M T <ol
Aea A g 29 e PI W 629 2

T A6, 1), B(8, 2), C(9, 4) 9% D(P, 3) el @ T G2l AT
MR = S P-ag W T A ?

2 A6, 1), B8, 2), C(9. 4) 30 D(P, 3) Rrdrenfy fermeeemsf wid fifaf

T2 SR ofeeT P A /TS 7
afg fag A6, 1), B(8,2). C(9. 4) 3t D(P, 3) T THRI SgHS I S A
8, | P A 1 g 7
Jy)/\/a!ue of tan 48° tan 23° tan42° tan 67° = ? 1
tan 48° tan 23° tan 42° tan 67° Y[ =17
7
o o o (] -9
tan 48° tan 23° tan 42° tan 67° GI T =1 Elsﬁ-:

tan 48° tan 23° tan 42° tan 67° AT = 7
tan 48° tan 23° tan 42° tan 67° HTHAHA =7

(Wat is the value of 2 tan?45° + cos?30° — sin*60° ? 1
2 tan? 45° + cos? 30° — sin2 60° I T 5 7
2 tan? 45° + cos2 30° — sin? 60° G FH F 7
2 tan® 45° + cos? 30° — sin® 60° F AT AT ?

2 tan® 45° + cos? 30° — sin® 60° BFTAT TR ?

B33-GM (EN/AS/BN/BD/HN .
( ) ! 3047



M]at is the distance between two parallel tangents drawn on a circle of
radius 4 ¢cm 2 1
4 Rl PR 3% S et ~wpeee O i 4 R

4 cm PR 08 el AYREIE =i 764 T 7g F©7
4 S 8 W T SR fom iR GG SR TR SIS SR 2
4 6ol B Y o T el o ) i et Vo 3 e ) g P A P

whe length of a tangent from a peint A at distance 5 cm from the centre of
the circle is 4 em. Find the radius of the circle. !

T8 RTINS C&:fir: e 2491 5t g A 3 491 =5 oo o7 4 T |
TR P Prefr <t |

T8 (W 5 G, 7708 Al aofb g A-aw @ 95 ~opfces et
40LRL 1 gefba o st o |
ﬁwﬁﬁﬁﬁmsﬁhmmﬁqﬁﬁﬁAﬁmﬁﬁﬂaé@aﬂﬁ
ST 4 | | Sl w'ar fger |
ﬁ%éﬁﬁsaﬁaﬁ@m@mﬁgAﬁdﬁﬁﬂéwwwaﬁéﬂ4@ﬁr
& 1 3 <1 Forear e i |

(iy/T he length of the minute hand of a clock 1s 14 cm. Find the area swept by
the minute hand in 5 minutes.

aﬁw@aﬁﬁﬁﬁ@mﬁut@ﬁ:,sﬁﬁ%ﬂ@a%ﬁrﬁaw%ﬁ 1
e Sferaat |
a6 T FHGa Fifbs ol 14 S RSl Sioife wmr efeg
CFEF (Y I |
ﬁaﬁhﬁﬁzmgﬁmsmméﬁr,sﬁﬁzmﬁﬁzmamfﬁamw
ot f g |
@q@%mmﬁ@ﬁéﬁmﬁrﬁ%wﬁwﬁa@ﬁﬁé%t@m
&Ae T il | -

B23-GM (EN/AS/BN/BD/HN) 14 3047



(x) If the difference between circumference and diameter of a circle is 30 cm

. - . 2
then what is the radius of the circle ? | use T = - 1

ft; @Bl gag AR S R st 30 @i W cors BRI

%37 [ n=3—73]

T @16 U8 AR @R AET 14 30 CLAL =7 iz FEibe e
237 (WW rc=%}

e Wi Sty S R o) @ g s 30 @t TR s et
H'@mmaﬁﬂ?[mn:%z-)

TR wF g9 F aitly afic s 7 30 T F ofw 2 @ o A e w0 gl 7

22 .
( =T R 1] W‘EEE]
3
- o
5. Fill in the blanks choosing the correct option from the alternatives given in the
brackets :

THAN Foots ol [ Hestaa o)l W Seq0! iR 41 oiz o o1 :

TR foeca creml Reaef I uw Serlt @ Ma e s v

F<ifr fe B afreRtEE T Reed! JeE A diEl S 3
e |

v i R T et i & e IeR gt e T B s '%%

(iy” 1f the volume of a sphere is 288 = cm? then radius of the sphere is )
(6 cm/7 e/ 8 e/ 10 em) | 1
Bl ColfeTa SIS 288 1t (2: 3 2 (STFThIE T 29 .

(6 a7 el 8 @l 10 =)

@B (ANETCre SRS 288 1 LR 2@ Toiterelba vTid =
6 @R AR AR 10ER)

T g USTRTTer 288 o & STrelieet S o wr S .
(6 Bft/7 &ffy 8 A 10 1)

I U Tiie) W1 AT 288 7w cm? &, T T Y e 2 ‘
(6 dieft/7 Bfly 8 Bl 10 well)

B23-GM (EN/AS/BN/BD/HN) 15 1047



e

(3};} The curved surface area of a cylinder is 2200 em* and the circumlerence ol

the base is 220 cm. The height of the cylinderis . I
| (4 em/l em/10 e/ 3 cm)

Bl @EA 3% R 2200 @ o ofE o 220 @ | @EEE
TSl 29 (4 fi/1 @ fio & 3 &)

ofb @R 3T 3@ 2200 G @73 OEE SRR 220 BLRL | @G
Tl 71 A @R 3ERY

qE TR e frg gemRar 2200 ¥ W wER anfilg e
220 3 | B Shermsan smie (4 afiy1 &y 10 afy 3 A

T ST 1 T3k IS SEEE 2200 em? B 3fiT SR 1 9ify 220 om B, SoH
EIE IR (4 2ty | By 10 By 3 el

M If the mean of v, x + 3, x + 6, x + 9 and x + 12 is 10 then value of x
(57479178) 1

A v+ 3,0 6,5+ 9 TF -+ 12 TG 10 Y (50T x I IH LT
(5/4/9/8)

T v, x 3, 0+ 6ox+ 9 R v+ 12-97 W ) TF O 199 T TF
 (5/4/19/8)

R v, v+ 3,5+ 6,0+ 9 IR v+ 12 T AR 10 1) arestr « Y Tr S
_ (5/419/8)

A x x+ 3 H6. X+ M+ 2FAA0R, G vmwmEm |

(50419/8)

B23-GM (EN/AS/BN/BD/HN) 16 3047



(iv) The probability of an impossible event is AL7570/706) I
(i S ‘

aBi ePTSY WA IS wa (1/570/6)
QWW W W 209 A0l e) ECE

7 Rk
I8 ety s e ST (1/5/0/6) @E@’

Th STHYE 9T 6 TRk 2 1(L/570/6)

(:)/A die is thrown once. The probability of getting a number less than 5 is

11,5 ,2
R :
9Bl P 931 N sAfeat 75 | 5 O T WA iR TRl 27

l,1,5,2
3/51513)
ST A G G DI Sl | 5-93 TG (25 7227 9718w sifre! 2
1 ,1,5,2
(33133
AHY 358 Wed TEWE W | 5 Tigg 39 smfimn SEeEmay s
I 1 45,2
L — T
T I Y Teh ST HHT T | 5 BT T WK A ol Srhrehar &
[L/l/i/%}
27376"3 E,I@\_@t
[
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SECTION — B / 3§ —=2)} / % — =l / W—amgreit / G401

ﬁactorise 1z=-7+Txy—xyz

Sesimp ﬁtﬁﬂ\‘T W[t z-7+ Txy—xyz
T ORI PR 12— 7+ Tey —xyz
g Rl 2 - 7+ 7vy — xyz
Wﬁﬁﬂ rz— 1+ Txy—xyz

/ Show that 5 —+f3 is irrational.
eReq @ 5 —[3 Sl |

oI (F 5 -3 SeIRCH |
R’ 5 —/3 an gaseenty |
forg I 6 5 -f3 o e wE 2 |

8, In AOPQ, right-angled at P, OP = 7 cm and OQ — PQ = | cm. Determine the

values of sin Q and cos Q. ‘ 9
AOPQ ¥ P TWIT &F OP = 7 =&F: W% 0Q - PQ = | & | sin Q W
cos Q I W e =31 |
AOPQ €3 P WP &% OP = 7 @T:f: 4R 0Q - PQ = 1 Gisfil: | sin Q wRg
cos Q - G I fefa e |
AOPQ fir P 311a TR 1, 31t OP = 7 3 0Q - PQ = | M 15in Q 3T cos Q
o g | ‘ :
AOPQ # Freest hIvr P §HHI 3, OP = 7 8t 3 0Q - PQ = | ¥ & | 5in Q oK
cos Q o T T HITT |
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) | ]
‘,}‘/IFSIH (A—-B) ZE, CcOs (A+B):E’ where 0° < A + B € 90° and A > B,
find A and B. >

. ] 1
3t sin (A - B) =3, cos (A +B) =3, TS 0° < A + B < 90° &% A > B, (SR
A S B facfa < |

- | l
T 3in (A ~ B) =5, cos (A + B) =5, CRITT 0° < A + B < 90° &% A > B, IZ
A O3 B WU T |

) ] |
Tgﬁsm(A—B)=§.cos (A+B)=§W0°<A+ngo°mﬁA>BmA
F B &t g |

I sin (A — B) cos(A+B) s 0°<A+B<90°A>B% @ A 3T B I
A TG i | [CIpe{L]
257

10. Hari tosses two different coins simultaneously (say, one is ¥ 1 and other is T 2).
What is the probability that she gets at least one head ? 2

2Ry vt e Tt TEes! 55 R (1, @1 | TR I S0t 2 BR) | (98
% TS 95! Y2 TR Feiie! 6 7

2R 7 fom M@t @I B AR (4T, @il 1 B R S 2 BRY) | T
RS I 79 eI RS F 7

ghen T T T Tl 93 o Wil @nn@mlt’rﬁ@ﬁﬁaaﬁgﬁﬁﬂt&aﬁ‘rz
TR wRR) | R EryRseTE! S @ AR ST A 7

2R 2 v —fir Rren ) T T JTern & (AT S O feh 2 1§ STRgE
BRI T 2 HT 8) | TaEh) T T 3 R 9 9 A 7 T R Wi i 7

Il. Solve:x+y=l4x—y=4 3
WWW:I'FY:I‘LI“}’:‘I' Eﬂm
Wmas@t;x+y=l4,.rwy=4 “@‘%

T gt i ary=14,x-y=4
AN xry=14,x-y=4
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I2Z. Find the roots of the equation 2v2 + 5 = 2.

1o —

(3]

I

2y +

2 AT 9 2 Efere |

= 2x FARACTE R @@ Tl |
2x 2y qATEH Tgrhiea! e |
R 217 + 5 = 21 35 7 8 R |

ra

[3°

X- 4+

(9]

+

il

B — R — ) —

3. How many two-digit numbers are divisible by 3 ?

B! SRS 7251 bt 3 @ fRreiey 2

76 7 RfE Mg wefb 3wl fRorsg 7

T FARTET T STy SR 3 S e |
<t 37! arelt fohet et 9 @ R £ 7

4. Sand T are points on sides PR and QR of APQR such that £P = ZRTS. Show
that ARPQ ~ ARTS. 3
APQR F PR W QR TIT @*<© S I T 7ol 7 O «£P = £RTS | (gt
ARPQ ~ ARTS |
APQR~49 PR 9% QR I72d T4tH S @R T b K7 TS £LP = LRTS | 4lis
ARPQ ~ ARTS |
S SR T 3 APQR ¥ PR 7RI QR HmenfRify ¥ w73 famgt S 2P = /RS |
1 &€ ARPQ ~ ARTS |
APQR #I ¥l PR 3 QR W #: &g S 3 T 3o won fRm § f5
/P = /RTS & | 215¢ 6 ARPQ ~ ARTS & |

15, If A(=5, 7), B(= 4, =3), C(=1, -6) and D{4. 5) are the vertices of a quadrilateral
Find the area of the quadrilateral ABCD. : quadrilateral, ]

T A5, 7), B(=4.-5), Tl ~6) W1 D(4, 5) Rorzt 1 g Ay
(STT ABCD TGeoT Fifel Sfereat | =

W ARS, 7). B4, -5), C(-1, =6) % D(4. 5) el wafl rodrery iy

| O ABCD Sgusing Chaws e 3t | R ©
FfEA(S. 7). Bl=4, =5), Cl-1, =6) TR D(4. 5) ia v ey Ry )
SRee ABCD 3ranRusfy geemef fog |
i A5, 7). B(— 4, -5), C(-1,-6) 3R D(4, 5) U s & g € A sm agia o
ST T hHiT |
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\\l/é./Prove that in two concentric circles, the chard of the larger circle, which touches
‘ the smaller circle. is bisected at the point of contact. 3
2T T (F B GFHHAS TS, Tieq TR WIS 7 JEBRE = i,
SISl ~fe THie® 27 |
o I @ o AFFES IR0, 9 797 Wiiis mif gafim mf FAA, T

~iuffgrs sTfée 23 |
faicigralan i fargtamma womt grmr s |
mﬁm%aﬁﬁqﬁﬁﬁﬁﬁmﬁﬁ%ﬁwwa,mﬁﬁg
T AT Bl & | i)

E.-

“17. A horse is tied to a peg al one corner of a Square shaped grass field of side 15 m
by means of a 5 m long rope. Find 3
(1)  the area of that part of the field in which the horse can graze.
(ii) the increase in the grazing area if the rope were 10 m long instead of 5 m
(uset=3.14)
tsﬁmamawaﬁmﬁﬁriﬁwﬁaaﬁm@mﬁ% 5 [bis Fiver 393
951 (191 J1fR TR T |
(i) THRICS 3" 51 *11s A= G12 S i fefa 3w |
(i) 3 s'erm 5 e 7= 10 Kb e 2, SR S 3 ety < |
(R € = 3.14)
15 R0 gy «fS sfvrarie ier g ol I 43{5 3foee 5 RE™ mrefa
A e s caret ey I 2 |
(i) CIIBIG I BT ST (TS “HRT WCsq (72 =iy et el ozt |
(i) T 7B 5 fbies sfwcs 10 bt orfe =% B <l wea g fidy
FE! | (IR I 7 = 3.14)
T8 RiEE 5 frer e fE 15 fren smaR ne ge o gecEr Sy
T8 @ ety Reen et @ = | e
(i) ety arerify geesf g Srer ragam et s A | E%
o (i) T B St SR e g Rt 5 frenfy sl 10 frer e
‘[ G | (= 3.14 89) ‘
‘.‘ 15 T S F1 O STIHR GTE % e F TH B 0 o G2 ¥ T 2R 9 5 Hiew
el el A Ei e e ) s R -
IO RE: Cio s Rr e e O i ——
(if) ﬁmmmﬁmﬁq&,aﬁ@%aﬁsnﬁaﬁaﬁmﬁ%mmmﬁa
| 7al! Tt @ =i @1 S | (v - 3,14 1 vl Hifip 4
|
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.18/ A hemispherical depression is cul out from one face of a cubical wooden block
such that the diameter “/" of the hemisphere is equal to the edge of the cube.

Determine the surface area of the remaining solid.
BT TR 1 Gara 1 PRt B ST wiigres ool b (T (0T
/TS WECSIER P /™ G4 P S A 2¥ | Wiy S gepifeq forefy o |
93l IR PN oA G P (N G W AFhea srSHS! (0
(A TATE, IS WS G/ GCa NI 70 S 27 | S8 SR
I fefr <t |
TR AR €1 AT AN ARG A8 TEUR S g A S
SR @t @ 7 3T BT S GHE SR | g A e S fag
geargfomdt fegT |
U TR 1R o U Teish 1 HeX T 3R Y FIE H T STHTETRR TTgel 36 ShR
T T R o ekt W s o T T RETR S e § | 99 99 3 H IS
&5 T IR |

197 If the median of the distribution given below is 28.3, find the values of x and y.
©oTq [Siema T4t A% 28.5 20 (008 x < y I Wi+ Sfersd |
ore Rreiemra sl 3 28.5 27 oiFE v 38 y-93 19 396 20 |
T TFARI TSR i 28.5 S 37 v TR y 1 34 g |
I 19 w77 s %1 WA 28.5 2, 97 v AR y I AF 9 BN |

3

3

Class interval/(=iq} S@JE/ Frequency/JI99i9e!/
0-10 5 j
10-20 X
20-30 20
30-40 15
40 - 50 ¥
50 - 60 5
Total/JO/CNOAT/F 60

_;Q./Construcl a triangle similar to a given triangle ABC with its sides equal to of

5
the corresponding sides of the triangle ABC ( i.e. of scale factor 3). 4

a1 B2 fagw ABC I P wiw <6 fage i ACs 289 AR ABC
GBI SR <A %@"HWI (wﬁac&ﬁc@agﬂl
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9% e foes ABC—@ TP W 93 fage wie wite 7 9@k ABC
frgeiba Symet w@%«m CIREd ’WI?{(WQFIQ (T A S ﬂﬁ] 7 |

qﬁqﬂﬁwa@ﬁwmcﬁm@mﬁmﬁmmﬁgmﬁaﬁ
FAGIEHR ABC STRamfrermfy AR snaifRed 2 ﬁW|(3a@Tmﬁa®ﬁ]
w 5T T fongs ABC%W@%&HE&WW fwrehy s Bt ABC 1

W'ﬂﬂnﬁ?ﬁ ‘a;l [ (Hﬂh@ﬁ@!ﬁq = Q) Eﬁ”‘-@;
OR /23] / Sl / W& / vern [

Construct a triangle of sides 4 cm, 5 cm and 6 cm, and then a triangle similar to

it whose sides aregof the corresponding sides of the fist triangle. (Write the
steps of construction.) 4

4cm, 5 cm I 6 cm IR B fags w1 T T o Pies @ T @1
aﬁ@@%ﬁﬁ%%ﬁwmwﬂwém@ | (ST
IR filRt 1)

4.cm, 5 cm R 6 cm LT G (Ggs S FR| GR S G TP G T T
< T e Wﬁgﬁ%wﬁ'aﬁ@%ﬁ%mm | (SR e e 1)

4cm, 5 cm A/ 6 cm FERT TH7 M@=~ 27RE 3 & 37 75w 9.
et OFE SRRy e SER wEiRen 9 sERemE Tew

SRR & % T | (s s R 1)
4em, 5 om H 6 cm o3l At ©h B 6 w1 i 37t iR 3o 9ned wh
s rger ot o e, Rt 3o R g Bt o F el A2 T A
(=T %% =it <t fafae 1) ‘

}1-/Iftwo zeroes of the polynomial 2x* — 3x* — 3x2 + 6x — 2 are \J2:and —[2 then

find all other zeroes. 4

244 _ 353 352 + 6y — 2 IR 01T 2 F (2 | B IRt N ey <o |
24 2343 _ 342 + 6 — 2 TLEFBT BT 2 4R 2 | &7 S5 Tl ey Fefy o |
2t — 303 37+ G 2 ToreTl T IR TR S A2 IR A2 1 A a1 e

W Et Teg |
e wgug 20 - 313 - 37 +6x—2 % 3 TEH 2 3 2§ A 3 o
T BT | ERE
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